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BC190413720: MLAIKA ASIM

STA304:Grand Quiz Quiz Start Time: 06:11 PM, 23 December 2020

Question # 25 of 30 ( Start time: 08:28:25 PM, 20 December 2020 ) Total Marks: 1

Select the correct option

Simple relative

v
Link relative
2
Simple and Link relative
£
None of them
4
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BC190413720: MLAIKA ASIM
STA304:Grand Guiz Quiz Start Time: 06:11 PM, 20 December 2020
Question # 8 of 30 { Start time: 06:15:54 PM, 29 December 2020 ) Total Marks: 1

Select the correct option

Additive model

Mixed model

Multiplicative model

Regression model
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BC190413720: MLAIKA ASIM
STA304:Grand Quiz Quiz Start Time: 06:11 PM. 28 December 2620

Question # & of 30 ( Start time: 06:14:57 PM, 29 December 2020 ) Total Marks: 1

The additive model of the time series is®

Select the correct option

Y=T+5+C+I|
£
Y =TsCl
o]
4
Y=a+bX
4
Y=a+bX+eX
4

o8 e Y |ci@@le v Blolale @B (6|@|e(0@[6 |+ - E
* BBOAOE @)

<« c 8 quizvuedu.pk/QuizQuestion.aspx?ver=b04c7d52-f941-40b3-892d-2b706b0b29d0

BC190413720: MLAIKA ASIM
STAZ04:Grand Quiz Quiz Start Time: 06:11 PM, 20 December 2020
Question # 5 of 30 ( Start time: 06:14:19 PM, 20 December 2020 ) Total Marks: 1

Select the correct option

Median

Harmonic mean

Arithmetic mean

Geometric mean
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BC190413720: MLAIKA ASIM
STA304:Grand Quiz

Question # 13 of 30 ( Start time: 06:19:00 PM, 29 December 2020 )
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Quiz Start Time: 06:11 PM. 28 December 2620

Total Marks: 1

Select the correct option

Consumer price index
Passche's price index
Cast of living index

Both Consumer Price index and Cost of living index
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BC190413720: MLAIKA ASIM
STAZ04:Grand Quiz

Question # 26 of 30 ( Start time: 06:28:53 PM, 20 December 2020 )

Select the correct option

Simple index

Fisher's index

Consumer price index

(o]

Volume index
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Quiz Start Time: 06:11 PM, 20 December 2020

Total Marks: 1
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STA304:Grand Quiz

PM, 29 December 2020 )

Question # 1 of 30 ( Start time: 06:

Laspeyre's index = 110, Paasche's index = 108, then Fisher’s |deal index is equal to

Select the correct option

110
100
108

109
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BC190413720: MLAIKA ASIM
STAZ04:Grand Quiz

Question # 29 of 30 ( Start time: 06:30:58 PM, 26 December 2020 )

Select the correct option

Price relatives

Chain indices.

Link relatives

Nene of them
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Quiz Start Time: 06:11 PM. 28 December 2620

Total Marks: 1

4

Another X | [B) Readers' x | @ mBBI-2pd X | +

* BB A

Quiz Start Time: 06:11 PM, 20 December 2020

Total Marks: 1
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BC190413720: MLAIKA ASIM
Quiz Start Time: 06:11 PM. 28 December 2620

STA304:Grand Quiz
Question # 4 of 30 ( Start time: 06:13:52 PM, 29 Decamber 2020 ) Total Marks: 1

The number of tests of accuracy is:

Select the correct option

2
~
5
P
3
4
4
(o]
2
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BC190413720: MLAIKA ASIM
Quiz Start Time: 06:11 PM, 20 December 2020

STAZ04:Grand Quiz
Question # 16 of 30 ( Start time: 06:21:55 PM, 23 Dacember 2020 ) Total Marks: 1

Base year quantities weights are used in

Select the correct option

Laspeyre's method
o]
ra
Paasche's method

Fisher's ideal method

Difficult to tell
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BC190413720: MLAIKA ASIM
STA304:Grand Quiz
Question # 10 of 30 ( Start time: 06:16:58 PM, 29 Decamber 2020}

The general pattem of increase or decrease in economics or secial phenemens is shown by-

Select the correct option

Seasonal Trend
Cydlical Trend
Secular Trend

Iregular Variation
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BC190413720: MLAIKA ASIM
STAZ04:Grand Quiz

Question # 19 of 30 ( Start time: 06:24:41 PM, 29 December 2020 )

A time series has:

Select the correct option

Two components
Three components
o]

Four companents

Five components
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Quiz Start Time: 06:11 PM. 28 December 2620

Total Marks: 1
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Total Marks: 1
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BC190413720: MLAIKA ASIM
STA304:Grand Quiz Quiz Start Time: 06:11 PM. 28 December 2620
Total Marks: 1

Question # 30 of 30 ( Start time: 06:31:35 PM, 29 Decamber 2020 )

index for base taken as:
1)
Select the correct option
100
o)
£
200
4
(1]
£
10
4
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BC190413720: MLAIKA ASIM
STAZ04:Grand Quiz Quiz Start Time: 06:11 PM, 20 December 2020
Total Marks: 1

Question # 11 of 30 ( Start time: 06:17:19 PM, 28 December 2020 )

The ratio of a new price to the base year prics is alled the-

Select the correct option

Price relative
£
Price increase
4
Price decrease
4
Price absolute
4
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BC190413720: MLAIKA ASIM
STA304:Grand Quiz Quiz Start Time: 06:11 PM. 28 December 2620
Question # 9 of 30 { Start time: 06:16:40 PM, 29 December 2020 ) Total Marks: 1

In a straight line equation Y = a + bX; bis the:

Select the correct option

Y-intercept
£
Slope
o]
A4
Xeintercept
pa
Trend
A
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BC190413720: MLAIKA ASIM
STAZ04:Grand Quiz Quiz Start Time: 06:11 PM, 20 December 2020
Question # 2 of 30 ( Start time: 06:12:51 PM, 29 December 2020 ) Total Marks: 1

The aggregative expenditure method and family budget method always give:

Select the correct option

Different results

Apprazimate results

Same results

Nene of them

4
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BC190413720: MLAIKA ASIM
Quiz Start Time: 06:11 PM. 28 December 2620

STA304:Grand Quiz
Total Marks: 1

Question # 7 of 30 ( Start time: 06:15:07 PM, 29 December 2020 )

What type of index number can help the government to formulate its price policies and to take appropriate economic measures to control prices?

Select the correct option

Whole sale price index
£

Consumers price index

o]

4.

Quantity
A

None of them
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BC190413720: MLAIKA ASIM
STAZ04:Grand Quiz Quiz Start Time: 06:11 PM, 20 December 2020
Total Marks: 1

Question # 7 of 30 ( Start time: 06:15:07 PM, 29 December 2020 )

WWhat type of index number can help the government to formulate its price policies and to ake appropriate economic measures to conirol prices?

Select the correct option

Whole sale price index
£
Consumers price index
A4
Quantity
A
None of them
~
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BC190413720: MLAIKA ASIM
STA304:Grand Quiz

Question # 21 of 30 ( Start time: 06:25:56 PM, 29 December 2020 )

Select the correct option

Single variable
Bi-variable
Multiple variables

Nene of them
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BC190413720: MLAIKA ASIM
STAZ04:Grand Quiz

Question # 13 of 30 ( Start time: 06:19:00 PM, 29 December 2020 )

To measure the relative change in purchasing = specified basket of goods and services befween two perids for 2 cariain logality for fixed income group of people, we can use:

Select the correct option

Consumer price index
Passche's price index
Cast of living index

Both Consumer Price index and Cost of living index
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Quiz Start Time: 06:11 PM. 28 December 2620

Total Marks: 1
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BC190413720: MLAIKA ASIM
STA304:Grand Quiz

Question # 23 of 30 ( Start time: 06:27:12 PM, 29 Decamber 2020 )

Another name of consumer’s

Select the correct option

\whole-sale price index number
Cost of living index
Sensitive

Composite
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BC190413720: MLAIKA ASIM
STAZ04:Grand Quiz

Question # 22 of 30 ( Start time: 06:26:26 PM, 20 Decamber 2020 )

Select the correct option

Scale

Origin

Both scale and onigin

Neither scale nor origin
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Quiz Start Time: 06:11 PM. 28 December 2620

Total Marks: 1
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Total Marks: 1
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BC190413720: MLAIKA ASIM
STA304:Grand Quiz Quiz Start Time: 06:11 PM. 28 December 2620
Total Marks: 1

Question # 24 of 30 ( Start time: 06:27:52 PM, 29 December 2020 )

Select the correct option

Simple relative
ra
Link relative
ra
Simple znd Link relative
A
Nene of them
~
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BC190413720: MLAIKA ASIM
STAZ04:Grand Quiz Quiz Start Time: 06:11 PM, 20 December 2020
Total Marks: 1

Question # 18 of 30 ( Start time: 06:23:40 PM, 29 Dacember 2020 )

Which ene of the following index numbers is based on geometric mean of the Laspeyers and the Paasches index number?

Select the correct option

Laspeyers index number
ra
Paasches index number
Fa
Fisher's Ideal index number
A

Marshall Edgeworth index number
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BC190413720: MLAIKA ASIM
STA304:Grand Quiz Quiz Start Time: 06:11 PM. 28 December 2620
Question # 14 of 30 ( Start time: 06:20:03 PM, 29 Decamber 2020 ) Total Marks: 1

Select the correct option

Paasche's formula

Fisher's ideal formula

Marshall Edgeworth formula

Family budget method formula
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BC190413720: MLAIKA ASIM
STAZ04:Grand Quiz Quiz Start Time: 06:11 PM, 20 December 2020
Question # 12 of 30 ( Start time: 06:17:55 PM, 29 December 2020 ) Total Marks: 1

The most commonly used mathematical method for measuring the trend is:

Select the correct option

Semi Average

Maving Average

Free Hand Curve

Least Squares
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BC190413720: MLAIKA ASIM =
DATABASE

STA304:Grand Guiz 611 PM. 20 December 2020

Question # 3 of 30 ( Start time: 06:13:29 PM, 29 Decamber 2020} Total Marks: 1

Additive model for time series Y is:

Select the correct option
Ts'C

T°5C*1
o @ o%
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s @ 00% 4
TS
T-8-C-1 | P
None of the above &0 @ ox

None of the above
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BC190413720: MLAIKA ASIM

STA304:Grand Quiz Quiz Start Time: 06:11 PM, 20 December 2020

Question # 15 of 30 ( Start time: 06:20:33 PM, 20 Decamber 2020 ) Total Marks: 1

In moving average method, we cannct find trend values of some

Select the correct option

End periods

o

Middle periods

Starting and End periods

Starting periods
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BC190413720: MLAIKA ASIM
Quiz Start Time: 06:11 PM. 28 December 2620

STA304:Grand Quiz
Total Marks: 1

Question # 27 of 30 ( Start time: 06:29:27 PM, 29 December 2020 )

Select the correct option
Secular trend
£
Imegular varistions
A4
Seasonal variations
(o]
A
Cycical variations
~
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BC190413720: MLAIKA ASIM
STAZ04:Grand Quiz Quiz Start Time: 06:11 PM, 20 December 2020
Total Marks: 1

Question # 28 of 30 ( Start time: 06:30:12 PM, 28 Decsmber 2020 )

Select the correct option
Circular test
o)
£
Time reversal test
£
Factor reversal test
£
Nene of them
4
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BC190413720: MLAIKA ASIM
STA304:Grand Quiz
Question # 17 of 30 ( Start time: 06:23:12 PM, 29 Decamber 2020 )

If 2l the values are not of equal importance the index number is called:

Select the correct option
Simple
Un-weighted
\eighted
(o]
None
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Quiz Start Time: 06:11 PM. 28 December 2620

Total Marks: 1
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